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#include <stdio. h> ini
program Init
int a[10]; e 20
: integer 1 i
|n1i:nr2a:p(){ do i=1,10
for (i=0;i<10; i++) 3(5):'
2Ll = 41, end do
for (i=0;i<10; i++) dop:T;{12 a(i)
printf ("%d¥n”, alil); end do
| return 0; end program init
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- xmp_init.c, xmp_init. f90 [CHERXZEEML TIHFHIEL
F£179 5, xmp_node_num() [/ — FE B ZIWE T 2E%#,

#ipragma xmp nodes p(2)

#pragma xmp template t(0:9)

#ipragma xmp distribute t(block) onto p
int a[10];

[aligniE "]

int main() {
int i;

[1ooptERX]
for (i=0;i<10; i++)
ali] = i+1;

[loop$E R3]
for (i=0;i<10; i++)

printf (" [%d] %d¥n”, xmp_node_num(),

return 0;

J

alil);

program init

I$xmp nodes p(2)

I$xmp template t(10)

I$xmp distribute t(block) onto p
integer :: a(10)

[al igniE =]
integer :: |

[loop$ERX]
do i=1,10
a(i)=i

end do

[loop$ERX]
do i=1,10

print * xmp_node num(), a(i)
end do

end program init
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xmpcc xmp_init.c
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mpirun —np 2 ./a.out
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[C] sin((double) j/N2+#M_PI)+cos ((double) i /N1xM PI)
[F] sin(dble(i-1) /N1xPI)+cos (dble (j—1) /N2*PI)

B icxtL T, 579 2 HRADENEICLS
FFRRET LT XL Z2FETT 5,

FEEREIL—T
for(j =1; j < N2-1; j++)
for(i =1: i < NI-1; i++)
ulj10i] = (uulj=-11L0i]1 + wulj+110i] + wulj10i-1] + wuljlli+11)/4.0;
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- laplace. cE f=lZlaplace. f90Z=a /N LT B,
- gcc laplace.c —Im
- gfortran laplace. 90

- 1795
- ./a.out

- tREEE (Verification) LU TDIETH S Z & ZHEZEE L.
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[C] uljl[i] = wuljllil;
[F] u(i, j) = uudi, Jj)
- loopfa =3 T AL GRE 1 THIT )

2. BT DRANNEZR OSSN D D55
[C] ulj10i] = wu[j10i] + wuljILi=11 + wu[j+11001 + -
[F] u(i, ) =uu(i, ) +uuCi-1,J) + uui, j+1) + -

~> fild@ (5 +loopfE 3 (fE(SIL Z DEFEL <)

3. MR E, VT RIEEZMTTAEEDH HIGE
[C] s += abs(uulj][i]l-ulj][i]);
[F] s = s + abs(uu(i, j)-u(i.j))

- loop#a/~ 12 [reductionffi] %10
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#include <stdio.h>

#include <stdlib.h>
#tinclude <math. h>

#tdefine N1 64

#tdefine N2 64

double u[N2][N1], uu[N2][N11;

#tpragma xmp nodes p (4, *)

#tpragma xmp template t(0:N1-1,0:N2-1)
[distributetgm3]

[align}ER3C]

[align}ER3C]

[shadow$5 7R 3]

int main(int argc, char **argv)
{
int j,i,k niter = 100;
double value = 0.0;

#tpragma xmp loop (i, j) on t(i, J)
for(j =0; j <N2; j++) {
for(i = 0; i <N1; i++){
ulj10i] =0.0;
uulj]li] = 0.0;

NE—21

I [looptERX]

for(j = 1; j < N2-1; j++) INE—21
for(i =1; i <NI-1; i++)
uljlLi] = sin((double) i/N1xM_PI)
+ cos ((double) j/N2xM_PI) ;
for(k = 0; k < niter; k++) {
/* old <- new */
[loop#ErX]
for(j =1; j <N2-1; j++) INE—21
for(i = 1; i < NI-1; i++)
uwaljICi] = uljllil;
[reflectig=]
[loop#sR3X] NFZ—22
for(j =1; j < N2-1; j++)
for(i = 1; i < NI-1; i++)
uljI1C0i] = (uulj-110i] + wu[j+11[0] +
uu[j1Li-1] + wulj1Li+11)/4.0;
}
/* check value */
value = 0.0;
#pragma xmp loop (i, j) on t(i,j) [reductionfi] °h
for(j =1; j < N2-1; j++) Ne=2E
for(i =1; i <NI-1; i++)
value += fabs (uuljI[il-uljILi1);
#pragma xmp task on p(1,1)
printf (“Verification = %g¥n”, value) ;
return 0;
}




